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READY. SET, GO!

Name Period Date

READY

Topic: Finding the distance between two points

Use the number line to find the distance between the given points, (The notation AB means the
distance between the points A and B.)

1. AE 2. CF 3. GB 4, CA 5. BF 6. EG

Answer: 6 - Answer: 7.5 - Answer: § _
A B C D E F G

—!——-—-.4—-—-.- ¢ ; ’2 t —@ (:) t } f ?-w—t t ) ? }

7. Describe a way to find the distance between two points on a number line without counting the
~ spaces,
. Answer: Subtract the points. if the difference is negative, change it
to positive since distance is always positive.

8. 2 - = rind a5 (Y
\.\
™ b. Fird BC. —
T R -

9. Why is it easier to find the distance between point A and point B and point B and peint C than itis
to find the distance between point A and point C?

Answer: AB and BC are vertical and horizontal segments so all you have to
do is count the spaces along the grid lines. A sianted line needs Pythagorean
Theorem. ; .

10. Explain how to find the distance between point A and point C.

Answer:
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READY, SET, GO/ Name ' Period Date

READY

Topic: Using translations to graph lines

The equation of the tine in the graph is y = x.
1. a) On the same grid graph a paraliel line that is 3 units above it.

b) Write the equation for the new line in slope-intercept form.

Answer: y=x+3
€} Write the y-intercept of the new line as an ordered pair.

Answer: (0,3)

d) Write the x-intercept of the new line as an ordered pair. 1
Answer: (—3,0)

e} Write the equation of the new line in point-slope form using the y-intercept.
Answer: y=(x-0)+3

f) Write the equation of the new line in point-slope form using the x-intercept,

Answer: y=(x+3)+0

E] Explain in what way the equations are the same and in what way they are different.
nswer: They have the Same form and the same slope. When using the  intefcept, the parentheses are

effected. When using the y intercept, the end number is effectad.
The graph at the right shows the line y = —2x.

2. a) Onthe same grid, graph z parallel line that is 4 units below it

b} Write EhWe in slope-intercept form.

¢) Write the y-interce new line as an ordered pair.

Answer:

d} Write the x-intercept of the new line as an ordered pair,

Answer: F
e) Write the equation'of the new line in point-slope form using the

-intercept.
T ansve (Y

f) Write the equation of the new line in point-slope form using the x-intercept.
Answer:

g) Explain in what way the equations are the same and in what way they are different,

ol —
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The graph at the right shows the line y = ix.

3. a} On the same grid, graph a parallel line that is 2 units below it.

Answer: {0.-2)
d} Write the x-intercept of the new line as an ordered pair.

Answer: (0.8)

£) Write the equation of the new line in point-slope form using the y-intercept.
Answer y = -i-(x—t}) -2

f} Write the equation of the new line in point-slope form using the x-intercept.
Answer: y = %(xna) +0

g) Explain in what way the equations are the same and in what way they are different.

Answer: They have the same form and the same slope. When using the x intercept, the parentheses are affected
{0 1s added on the end). When using the y intercept, thie end number is affected {0 is subtracted from x}.

SET (1,5 ‘
O Topic: Verifying and proving geometric relationships A :

ol
b) Write th ion of the new line in slope-intercept =i
rite the equation of the new line in slope-intercept form, o e
q ] p p o T M
Answer: y =<x—2 AT L L e
¢} Write the y-intercept of the new line as an ordered pair. Rl B A

.....

The quadrilateral at the right is called a kite,

Complete the mathematical statements about the kite using
the given symbols. Prove each statement algebraically.

{A symbel may be used more than once.}

= 1 || < > =

Proof

7. W 52 S

B R R

&
1
1
E)
i

o e W

. BB 1 == }
5. 5D _|_ i Answer. BD hasslope ofz, AC has a slope of -2.

i

6. AB, 'ﬁ
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Answer: AB =+10,4D =+10 (13 +3%*=¢2), BC=5 = bC, and
7. MABC = aADC AC = AC (shared}); congruent because of S88S.

- p——— 4
g BE_!ED nswer;

8. AF > ED Answer: AE= VB (124 22 =¢?) and EC = vZ0 = 2v/5 (42 + 22 = &%)

o Qs A A

GO
Tapic: Writing equations of lines

Use the given information to write the equation of the line in standard form. (4x + By=C)

11. Stope: —% point (12,5) 12. P(11,-3), Q(6,2)

Answer: x+ 4y = 32 Answar:-

13. x — intercept: —2; y—intercept: —3  14. All x values are (—7). ¥ is any number.

Answer: 3x+2y=-6 Answer:

15. Slope: 3; x~ intercept:5 16. £(-10,17), 6 (13,17)

Answer: x —2y = 5 Answer; —
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READY, SET, GQ!

Name Period Date

READY

Topic: Interpreting tables of value as ordered pairs,

Find the value of f(x) for the given domain. Write x and f(x) as an ordered pair,

1L f(x)=3x-2 2. f(x) = x? 3. f(x) =5*

x| f | (xf@) x | fG) | (xF()) x | F&x) | (xf&x))

Z| 8 (-2,-8) 2 Z | Yo [ 2159

1| 5 | (1,9 1 —3 :

(_1! / )

R 0,2) 5 - /125 >

1 1 {1,1) 1 - ©1)

—t— o _ 5 1.5)
1z 25 (2,25)

SET ia v

Topic: Identifying specific quadrilaterals
4. a}) Is the figure at the right arectangle? Justify your answer. e o \\
Wd N
my <L
‘1\ & K
hY )d
’ \a. '/'x
NA
P

¢) Isthe figure at the right a square? Justify your answer,
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GO

Topic: Caleulating perimeters of geometric shapes

Find the perimeter of each figure below. Round answers t¢ the nearest hundredth.

5. ] ] 6.
/;,/\
- ra T \ Answen
“'""( ® l\ 28.77
il X
TR
Y e
P
; .
7, ) 8.
O AT
f/ 4 \ Answer:
\' 18.85
\ . i
N
‘f
o 14,
{ | Ahswer:

29.7¢
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READY, SET, GO! .. Name Period Date

READY

Topic: Vertical transformations on graphs

1. Use the graph below to draw a new graph Z. Use the graph below to draw a new graph
that is translated up 3 units. that is translated down 1 unit
!
s
/
3. Use the graph below to draw a new graph 4. Use the graph below to draw a new graph
that is transiated down 4 units. that is translated down 3 units.

¢ o
3
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SET

8.4

Topic: Graphing transformations and writing the equation of the new graph

You have been given the equations of f(x) and the transformation g(x} = f{(x) + k. Graph
beth f(x) and g(x). Then write the linear equation for g(x) in the space provided,

6. f(x)=05x; g(x)=f(x)~-3

¥
i

i~ : P
‘ i

i
L.
1
1

o - R

Based on the given graph, write the equation of g(x) in the form of g(x) = f(x) + k. Then
stmplify the equation of g{x) into slope-intercept form. The equations of f{x) is given.

7. f(x) = %x-3

e
-
oW
|
L’:?..-cr“"#
a g)=_ f)+4
Transiation form
—-x-41
b gx)=__ 4

Slope-intercept form
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15
Y
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g ix)
\

a. g(®) *—a*...”_____
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mathematics
vision project



(‘) SECONDARY MATH1 // MODULES
S CONNECTING ALGEBRA & GEOMETRY -84 8-4

GO
Topic: Converting units and making decisions based on data

9. Fernande and Mariah are training for a half marathon. The chart below describes their workouts
for the week just before the half marathon. A half marathon is equal to 13.1 miles. If four laps
make up one mile, do you think Marizh and Fernando are prepared for the event?

Describe how you think each person will perform in the race. Include who you think will finish
first and predict what you think each person’s finish time will be, Use the data to inform your
conclusions and to justify your answers.

Day of the week | Monday | Tuesday | Wednesday | Thursday | Friday | Saturday

Bernando;

Distance (In laps) 34 415 52 28 49 36

Time per day

(in mioutes) 1) 72 112 63 a8 58

Mariah: Distaner 30 48 45 a4 18 29
O (tn lap=)

Time per day 59 75 119 B2 70 45

(in minutes)

Answers will vary. Possible points that could be made to answer the problem:

» Fernando and Mariah are both prepared since on Wecdnesday, he ran 13
miles and Mariah ran more than 13 miles.

» Fernando’s average pace is .546 per minute and Mariah’s average pace is
.53 per minute,

» Fernando will probably beat Mariah since he runs a littie bit further per
minute than Mariah.

« Fernando’s time wiil be about 95 minutes and Mariah’s fime should be about
98 minutes.
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READY, SET, GUO! Name . Periad Date

READY

Heights of Black Cherry Trees

Topic: Describing spread.
1. Describe the spread in the histogram below,

Answers may vary. Possible
points to consider:
» Rangeis 30
¢ Unimodal
¢ Somewhat symmetrical
+« Extremes at 6¢ and 90

1 ¥ L ] 3 1

|
60 65 70 75 B> BS 99
Helght {fest}

hezpsd/fcommons.wikimedia.orgiwikiFileBlack cherry tree

O

2. Describe the spread in the line piot below.

N Eat P

] ] 1 1 i

¥ ] I I i I
2 30 35 40 45 S50 55 60 65

S KX

BLEX X XXX
B-Ixxx
8B x o
4% X
x
4

3. Describe the spread in the box and whisker plot

Answers may vary, Possible
points to consider:
s Rangeis 350
s No outliers
» Interquartile range 200
« Extremes at 50 and 400

""‘\\
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SET
Topic: Writing functiens in translation form.

You are given information about f(x) and g(x).
Rewrite g(x} in translation form: g{x) = f(x) + k

4 FX)=7x+13 p F(x)=22x—12 p f(x) = ~15x + 305
g =T7x-5 Y g(x) = 22x + 213 T og(x) = ~18x - 11
Answer: Answer: Answer:
225
g(x) =_— g(x) = f&+ g(x) =g_
Translation form Translation form Translation form
7. 8. 9,
X &) |t x |/ e x | [eey
3 1|26 4 15 |42 10 |4 |-155
10 |46 |61 1 |1 |48 3 75 |z
:z :;: ;36 5 |13 |-60 22 |20 |05
1 20 [-43 |-90 41 295 |10
Answer: Answer: Answer;
o) = _[(x) +15 o) -GN -1
Translation form Translation form Translation form

GO :
Topic: Vertical and herizontal translations,

10. Use the graph of f(x) = 3x to do the following: = [——

8. Sketch the graph of g(x} = 3x — 2 on the same grid. :

{
b. Sketch the graph of h(x)} = 3(x - 2)

¢, Describe how f(x), g(x), and h(x) are different and

how they are the same, !
d. 'Bxplain in what way the paren ffect the graph. Why do you think this is so?
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READY, SET, GO! Name Pertod Date

READY

Topic: Finding percentages

Mrs. Gonzalez noticed that her new cherus class had a lot more girls than boys in it. There
were 32 girls and 17 boys. (Round answers to the nearest %.)

1. What percent of the class are girls?
Answer: 65%

2. What percent are boys? —

3. 68% of the girls were sopranos.
a. How many girls sang soprano?
Answer; 22 girls

b, What percent of the entire chorus sang soprann?
Answer: 49%

4. Only 30% of the boys could sing bass,
a. How many boys were in the bass section?

b. What percent of the entire chorus sang bass?

5. Compare the number of girls whe sang alto to the number of boys who sang tenor, Which musical
section is larger? AROS  Justify your answer,
Answer. Altos > 32-22=10, 10/49 =20% Tenor-> 17-5=12, 12/49= 24%
SET

Tepic: Graphing exponential equations,
6. Think about the graphs ofy = 2¥andy = 2% — 4.

a. Predict what you think is the same and what is different.

b. Use your calculator to graph both eguations on the same
grid. Explain what stayed the same and what changed
whert you subtracted 4. 1dentify in what way it changed.
(If you don’t have a graphing calculator, this can easily be
dene by hand.}
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7. Think about the graphs of y = 2% and y = 2(*4,

a. Predict what you think is the same and what Is different.

Answers may vary. Possible answers: They would
have the same shape but the second one is 4 spaces
to the right.

b, Use your calculator to graph both equations on the
same grid. Explain what stayed the same and what
changed. Identify in what way it changed,

Answers: They would have the same shape but the
second one is 4 spaces to the right.

Topic: Vertical translations of Jinear equations

The graph of f{x) and the translation form equation of g(x) are given. Graph g(x} on the same grid
as f(x) and write the slope-intercept equation of f(x) and g{(x).

B. g(x)= f(x)~5 9. g(x) = f(x)+4 10, g(x) = f(x)~6

e SRR RER T

b. f(x) =

c. g(x) =! e gle)=__* c. glx) =

Slope-intercept form Slope-intercept form Slope-intercept form
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